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MSCBO-04
June - Examination 2019
M.Sc. (Previous) Botany Examination
Biochemistry and Plant Physiology
SIaRATIA Ud UTey HTiich!
Paper - MSCBO-04
Time : 3 Hours ] [ Max. Marks :- 80

Note: The question paper is divided into three sections A, B and C.
Write answers as per the given instructions.

fAder: I8 v ux ‘37, ‘¥ IR ‘W diF @wuel # JA9ig g1 udd
Gus & MGATTAR el & IR SIS

Section - A 8§xX2=16
(Very Short Answer Questions)

Note: Answer all questions. As per the nature of the question
delimit your answer in one word, one sentence or
maximum up to 30 words. Each question carries 2 marks.

gug - ‘3’
(3fer ofg ITRIT 99 T)
fAder : Al el & IR ST MY 370 IR Pl YR T 90eg,
TP a1 AT 3Mfhad 30 el H gR-AFT HIvTTl U ueT
2 3Pl Bl gl
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1) (i) Whatis entropy?

Tt @ gl 82
(i) Name any two homopolysaccharides.
gl Q BHIUTARINISSS & AT Ia1gU|
(iii) Define nucleotide.
JfFIICISs Bl IR SR

(iv) Which element deficiency is responsible for Chlorosis in
leaves?

fhg deg St Y g ¥ FARIRIT & foru STverRf g2

(v) What is Hill Reaction?
feer arfrfspam @/ 22

(vi) What do you mean by Respiratory quotient?
93T U ¥ 31T AT T & ?
(vii) What is Photoperiodism?

Sifeyeprforar @ g &7

(viii) Mention name of any one stress hormone.

fopeft U ToT gM BT 19 SaTsy|
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Section - B 4X8=32
(Short Answer Questions)

Note: Answer any four questions. Each answer should not

exceed 200 words. Each question carries 8 marks.
gus -
(oTg TR U9A)

fAder: gl IR Ul & IR ST 3T 3 IR Dl 3ferhad

200 et # AT HTTl T w9 8 3l &l ¢

Write a note on Glyoxalate Cycle.

TgIdleie I IR U feuguft forRau|

Explain first law of thermodynamics.

ST b TUH T B JHI8U|

Write a short note on chromatography.

qufeiRachl TR T Ffdred feoquft forRau)

Explain structure of DNA biomolecule.

SI3TY] ST I AAT bl R DI

Differentiate between active and passive absorption.

afepa Ta fHfshy sr@enyor § v HIU)

Write a short note on Kranz Anatomy.
et UATeH! (STaRdt) W T afared fewoft feau)
Write a note on Phytochrome.

HIgeIhT R U feoquft foRau|

Explain about Vernalization.
G TDPRUT Pl JHSTSU
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Section-C 2X16=32
(Long Answer Questions)
Note: Answer any two questions. You have to delimit your each
answer maximum up to 500 words. Each question carries
16 marks.

Qus - |
(e IR o)
fAder : el Q1 Ul & IR ARV 31T 3o TR B 31fErepad 500
gregl B gRAfIT HITTI URd T 16 3t a2

10) Describe mechanism of action of Enzymes.

TatTeH rfufehaT it fepamfafer @1 gufa Hifl

11) Explain various forms of protein structure.

M G & A= ®ul dl A9y

12) Explain electron transport chain and ATP synthesis.
golare I TIFT-ORUT SGcl T ATP {9yl &l Sy

13) Give an account on role of Gibberellins hormone.

Rrsifer=1 gMM &I fieT R & g forRau
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